l.) 315 2.) 1683 3) 1287 4.) 385
9x9 = 99 99 99
x 9 x 7 + 99
9x 8=
9x 7=
99 99 99
9x 6= x 8 x 6 + 88
9x 5=
5.) 341 6.) 297 7.) 253 8.) 209
e 99 % %
—_— + 55 + 33 + 11
99
+ 66 99 99
- 99 + 22 + 0
+ 44
9) 167 10.) 123 11.) 79 12) 35
988 966 944 922
- 899 - 899 - 899 - 899
955 933 911
977 - 899 - 899 - 899

- 899




1.) John has $9 and 17

the skateboard he
wants to buy costs $18.
How much more money
does he need?

2.) What is the difference
between 27 and 19?

3.) John ate 9 cookies A5

and his friend ate

9 cookies. How many
cookies did they eat
altogether?

4.) John spent $9 on candy
and $8 on ice-cream. How
much did he spend in all?

5.) 1584

9x9x9=

8x8x8=

Tx7x7=

6.) Round 684 to the | 1600

nearest hundred.

7.) Round 899 to the
nearest hundred.

8.) Round 655 1300

to the nearest 100.

9.) Round 645 to the
nearest hundred.

10.) What fraction of
the object is shaded?

12.) Round 447

to the nearest

hundred.

15.) Golf balls come 72
in boxes of three to a box.

11.) What fraction olf the object is shaded?

13.) Round 388
to the nearest

hundred.

800

14.)

Draw two parallel lines.

Draw a pair of perpendicular lines.

If Jim bought 9 boxes,
how many golf balls
did Jim buy?

16.) Jim gave nine baseball
cards to five of his friends.
How many cards did he give
to his friends?

17.) Find the area of each | 99 sq. cm.
rectangle.
9 cm
2 cm.
9 cm.

9 cm.

18.) Find the perimeter 54 ft.

-of-each rectangle.

9 ft.

8 ft.

9 ft.

[ 11 ft.

19.) Jim ate eighty-eight 1683

Gummy Bears for nine
straight days. How many
Gummy Bears did Jim
eat?

20.) What is the product of

99 and 9. Hint: The product

is the answer to a multiplication
problem.




